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1 Timing Remarks

For most semesters (especially Semester 2, due to Chinese New Year), we will not be able to reach
tutorial 11. For some other semesters, we could also only end up with tutorial 09 (lost two) if the
Public Holidays of that semester coincide with our tutorial slot and/or NUS well-being day. Recently,
(CS3230 has started tutorials from Week 02 to compensate for these, and this semester, we are fortunate

to have all 11 sessions.

2 Lecture Review: Linear-Time Sorting and Selection

Back in lecO4a, using decision tree model, we can show that any comparison-based sorting algorithm

cannot sort n comparable elements (e.g., into non-decreasing order) faster than Q(nlogn) time.

However, if we design sorting algorithms that do not compare elements, we may be able to break this

lower bound. In class, we learn two such sorting algorithms:

1. Counting sort (simple version and the stable sort version)

Terms and conditions: Only applicable to sort integers that fall in a ‘small range’ of [0..k].

2. Radix sort (a.k.a. iterated Counting sort from Least to Most Significant Digit)
Terms and conditions: As it requires stable Counting sort as its sub-routine, then the same terms
and conditions governing Counting sort also applies. If we break b-bit integers into % groups of

r-bits integers, then k = 2" of Counting sort needs to be of ‘small’.



We also learn the Selection (Order Statistics) problem: Given an unsorted array, find the i-th smallest

element in that array. We assume that we can only find the order of elements by comparing, i.e., we

cannot use Counting and/or Radix sort. In class, we learn several ways to do this:
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1. Very slow O(i - n) ‘complete search’ version, worst when i = 3, i.e., the median.

2. Reducing the Selection problem into Sorting problem, thus we can run ©(nlogn) comparison-

based sorting on the unsorted array, and then report index ¢ of the sorted array. However, since
Selection is ‘easier’ than Sorting, we are not bounded by the same Q(nlogn) lower bound of

comparison-based sorting, see the next two algorithms below.

. Run the ‘median of medians’ selection algorithm that spend some computation time just to find

a ‘good pivot’ by dividing n elements into | %] groups of 5 elements, find the median of those

small group of 5 using ‘brute force’, then find the median x of these medians. By partitioning
the array around z, we can design a Divide and Conquer algorithm that runs in worst-case

linear-time. But, this algorithm is not practical in real-life.

4. We can partition the array around a random pivot. In this tutorial, we will analyze that such

randomized algorithm, called Quickselect, invented by the same Tony Hoare who invented

Quicksort, runs in expected linear-time and is much practical.

Tutorial 11 Questions

Q1). and Q2). are hidden, but they are simple applications of Selection problem.

Q3). Please refer to the pseudocode of the randomized Quickselect algorithm shown in lec12.

This time, we will analyze its expected time complexity.

Part 1: Suppose in every recursive call of Quickselect,

the size of subarray is reduced from n to a size of at most %.

Part 2: Suppose in every recursive call of Quickselect,

the size of subarray is reduced from n to a size of at most n — 1.

What is the running time of Quickselect?

1. O(n) for Part 1 and O(n) for Part 2.
2. O(n?) for Part 1 and O(n) for Part 2.
3. O(n) for Part 1 and O(n?) for Part 2.

4. Q(n?) for Part 1 and Q(n?) for Part 2.

Q4). Complete the analysis of expected time complexity of Quickselect below.

Let T'(n) be the random variable for the running time of Quickselect on an input of size n.



For k € [0,1,...,n-1], we define the indicator random variable X}, where:

1, if the Partition subroutine generates a k: (n — k — 1) split

o
Il

0, otherwise

Q4a). What is the value of F[X}]?
To obtain an upper bound, assume that the i-th element always falls in the larger side of the partition.

When X}, =1, i.e., Partition subroutine generates a k : (n — k — 1) split,
T(n) = T(max(k,n — k — 1)) + O(n).
And as k € [0,1,...n — 1], then:

T(max(0,n — 1)) + O(n), for Xy =1

T(max(1l,n —2)) 4+ 0O(n), for X; =1

T(max(n —1,0)) + O(n), for X,,_; =1

\

Q4b). Complete the following computations:

1. Simplify the T'(n) formula above using the summation ), symbol:

2. Then, the expectation E[T(n)] is:

3. Use linearity of expectation to move the ) outside of E:

4. Use the fact that each X}, is independent from other random choices to separate E[X}]:

5. Use the value of E[X}] from Q4a). and simplify:

6. Use linearity of expectation to further simplify:

7. Realize that the terms k € [0..5] and k € [5..n — 1] are similar to simplify T'(max(k,n —k —1)):
Q4c). If you do the steps of Q4b). correctly, you will end up with E[T'(n)] < 2 ZZ;%%J E[(T(k)]+O(n).

Using substitution method, prove that E[T(n)] < c¢-n for some constant ¢ > 0.

The constant ¢ can be chosen to be large enough so that E[T'(n)] < c¢-n for the base cases.
Hint: use this fact that ZZ;EE |k < % (you do not need to re-prove this).
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In summary, Quickselect works fast, i.e., in expected linear-time. It is also an excellent algorithm in

practice, despite having a very bad worst-case of ©(n?) which is extremely unlikely to happen.

Q5). Discuss one specific question from immediate past final assessment paper (S2 AY24/25):
https://www.comp.nus.edu.sg/~stevenha/cs3230/tests/CS3230-2023-24-52-final-medium. pdf),


https://www.comp.nus.edu.sg/~stevenha/cs3230/tests/CS3230-2023-24-S2-final-medium.pdf

Question B.ﬂ, as it is much easier to present the question and to discuss it quickly.

Use https://visualgo.net/en/heap| to show such a Max Priority Queue with O(logn) add(x) (or
Insert(v) in VisuAlgo) and O(logn) pop() (or ExtractMax() 1x (Once) in VisuAlgo). There is
no top() operation in VisuAlgo but it is not that hard to do (just peek at the root (index 1)). To
simulate the new remove_larger_than(x), keep calling ExtractMax() 1x (Once) in VisuAlgo) until

the value of the root (index 1) is < z.

4 Postlude

As this is the last tutorial of CS3230 S1 AY 24/25, some TAs may want to take class photo as momento.

All the best for your final assessment on Fri, 29 Nov 24, 2.30-5.00pm.

'Question B.4. is in WA3, and thus students can refer to WA3-sol.pdf later. Students are allowed to discuss B.1. (the
probability /expectation analysis of Quickselect in this tutorial is kinda similar to this) and B.2. (a not-that-difficult
greedy algorithm) in our Class Discord during reading week.


https://visualgo.net/en/heap
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